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I #K 299x198=_ (1)_ -
l 2
2. ;%_FFB [10§j = _(2)_ °

3. #1098 =_(3)_ °
4. 1 1005x995=_ (4)__ °

5. 3K 100%><992: G -

6. FF FS5x+6x+71F _(6)__TE o

T FF 338 2x—x>+4X* -3 FRF L _(7)__ °

8. 33+ (803x* —804+x)+(5x° —x+802-801x*) = _ (8)__ °
9. 33 ¥ (4x—5x*+6)—(7x* +8+9x)= _(9)__ °

10. 33 ¥ (x* +6)— (7x—5x*) +(8x—3) = __(10)__ °

1. 3% -5x@x-4)=_(11)__ -

12. 33 8 (x+2)(x* —2x+4)=__ (12)__ °
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13. 3 (3x® +6x—8)+(3x) erkkst 5 _ (13)__ ©

14. 3 & (3x* —4)(5x+6)=__(14)__ -

15, © 4wbx® —x—19% " 5 MFAFIIF 34 5 x+2 0 A 530 5K SAL _(15)_ ¢

16. F =255 f 523, RIZEE T35 _ (16)_ °
17. #a=+/390,b=20,c =410, P a,b,c = #cern~ /] B T2 5 (A7) __ °
18. 3+ 256 e = 1= (18)_ -
19 f‘j_eJ-E‘27,_;’n;T_'—; 7 o
. e o 5 ”]“—_(19)_

90. #-1283x—6:f T 42, plx=_ (20)_

SRR A RS A, R 204

1. 31 (68.5)° — (31.5)2 =2

2.¢ A B,C= B % 754, 2 ¢ A=10x* —4x+5,B=2x -1, (=3x* -8, i A+3B-2C °

3. # F (X +D)+@Bx—2)ehpE N E wm?

4. 33+ 5 V12.96 =2
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